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Questions	
  :	
  
	
   	
  

1) Give	
  The	
  structure	
  of	
  2,	
  3,	
  6,	
  10,	
  12	
  and	
  13	
  and	
  the	
  mechanisms	
  to	
  obtain	
  
them	
  

2) Propose	
  a	
  pathway	
  to	
  obtain	
  8	
  from	
  7	
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1) EtMgBr, CuCl 50°C
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n-BuLi, THF, -78 °C
Ti(OiPr)3Cl

2) Au(PPh3)Cl, AgOTf,
    DCM, RT
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Fe(acac)3, MeMgBr,
THF, –78 °C - 0°C
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1) Dowex 50 W/H+

2) TBDPSCl, Imid.

PhSeCl, K2CO3
THF, –80 °C, 12h

then H2O2 and 
HOAc/NaOAc
RT 4 h, 78% d.r. = 28 : 1
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CAN, NaHCO3, H2O

–78 °C - –30 °C, DME 24 h
33 : 2 : 1
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(Hex)2BCl, NEt3, THF
–78 °C - 0 °C

DMAP, Imidazole
TMSCl, DMF

0°C to RT

SmI2, HMPA, H2O, THF
then HF.Pyr

10 11

12

+

48% 40%13

?

? ?












